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Student: Instructor: Alfredo Alvarez Assignment: <@ 09—/ ]
|Date _ Course: Math 0410 Spring 2018 MATHFIESTASAPREALEKS150 P
- - O30} o
1. Evaluate 2x -y for the given replacement values. Z. ,\/ (e 7 — aﬁ-fﬂ’-ﬂ,“""' L

=

x=9andy= -1 209) —(—1) - >
e 7/ = Y
i

Answer: 19 @

2. Simplify. E+ Fo ¥ —(5= “ £
6+9-8-15 G+ TAL—/5 <

6+9-8-15= | /17 =

Answer: 63 @

3. Simplify el —S eV (25)= : -
6+2-5-4+(-25) G e 2L —8eF — 25
B [2 —Sry—25 =
e g
Answer: - 33 .-—f
N -—33 )

4. Simplify, 7 (-1 [5’(5’) 3//3)]/‘? 76’ [—-Jz
B(-12)+15(-8)-3-13)]  F((2 )~ [ —%0 — 3(/3)]
Theansweris| | i(ﬂZ) < [ S0 3 7‘7 "’/
Answer: 96 f( ~/2 ) [ -~/ I ,_.--*"’"
5. Evaluate t;te following expression for x= -2 and y = 8. {&__ v = ______‘_-—_‘—_%H_h

£y o —(e) =
S — O —(6)=

Answer, -2 : éf —-'6*——:::
— . — : : it e s —
6. Solve. Check your solution. 4 2 = ~J

d-29¢ =—ire
The solutionisd= | /o
Answer: - 10 @

S

L HE
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A - 5
7. Solve. 2
3=-5 2(4)=2(—)

The solution is n =| 1 A =70

Answer: - 10 M = "@

—

8. Simplify the expression by combining like terms. 6 )(___ / f X —
6x—18 — ==
x— 18x — ( 29( .__—--....
6x-1 8x=| |

Answer. - 12x

9. Multiply. | | — 6 ?2 j ’:;2_) —

-6(2y +2)

R — —[1y —1T =

——— —— R

Answer: - 12y-12

e ————

0. ity e eresion 4 Lt
- € —2v) +6F+¥ =

4y-2y-3+d=[_ | (Z'\j —f—@

Answer: 2y + 10

i e i i B === —_— /R
1. Find the perimeter of the figure. @ v o 2T @
=it Ite

[ e “ﬁl feet
@ 6 feet | { B feet

| i

sr@b

The perimeter is | feet. (Simplify your answer.)
i +&EF
Answer; 11a+ 12 P“ /4’,‘4% ’—{—D F

_ pE=6t2aTiat2aTt €S
P= /la + [2D

tof4l 5/1:2019,4:13 PM
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12. Find the perimeter of the figure. . Each side: , S_

r} N o i /ﬂ S"(—-3 ;(ch)

[ inches
/ — —

13. The areais ) .
Find the area of the rectangle. € area s sq km

(Simplify your answer.)

W ATl
gl:n?etcrs /4 - 6/ "',é::l (- 33)

The perimeter is I ] inches. (Simplify your answer.)

Answer. = 15x + 45

(x—2) kilometers O
&

Answer: 33x - 66

14. A decorator wishes to put a wallpaper border around a rectangular room that measures 13 feet by 17 feet. Find the room'’s

perimeter. Use P =2|_+ 2W. z 2 (LF :2\ wuJ
The perimeter of the room is : feet. ’zﬂ:_-_ Z f / 7) -t Z (] ’_5)

Answer: 60 %G
e R— ¢ "N s

15. Solve and check the solution. J/_}X_:iz ) ':::)3,< "_l )( = 57
ABx-2=13%  [9 — F /33X '-/«”( - _f_
<[ (- 67A s ’3”2’

(eX =3 XF
Answer. —8 /2;(—{’})(__“ /3/)(43 ,__/4/ ©

-16. Solve the equation. -9/()(.-;@) -3 = $— 3¢
-4x+6)-43=5-38 —~F— 2 Y~ ¥ Z = — 31
Theanswerisx=|:,,f‘§/)<-—- 6 7 z ~% )
—¥X —~ 67 +67 =~3) 767
Answer: -9 '__9;/: jé

of 41 o 5112019, 413 PM
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17. Soalve the following equation. __)_{ z ‘f"‘-]/ - (6) "'[' 5—-—- -\.3\)@{& ) < "3 (/ S')

3

p—

The solution is l .
{Simplify your answer.} ,&. pall / O 7"5’-
Answer: -45 y [
S =% | ; —
18. Solve the equation. 2')(,__.1 - 3)(—74 C" —-'Ip(a _/_l_
2x-2=3x+9 Z(*%f’[: 3,{46'7/ 7 == ’_L
S R YA X<—-)
Answer: - 11 2')( '—3)< :?XFF—II# )<
S et . - B = -
19. Solve the equation. —~/6 W—20 < —/ X leio ":__9__6(.‘__ /I
- 16x-20= - 12x+ 120 */GX*ZJZ’(T/Z/O — =W TrflvoTly ~V__i‘
=L /6 X = ~f{xX+ /¥ Xc-3¢)
/76X 1Kk < %+/ ol
Answer: =35
e e e m YN (7Y
20. Solve the equation. f?jt 2, ) = Z)-—-/ S 3) zQ
5(y-3)=2y-15 g‘v —|5 .:._17 "'/S_ Y - Q
y=[ | f'tj._//f—f/r: 29 —-J)’*—f/()‘( 3
Answer: 0 ! = 7 j =0
g9 -29 =777 e

21. Solve the equation. &/ & ..._/ g (/é—fl.) ) —/—é - _/_L
4t-1=5(t+2) &£ —-/.,yf.: € F2 'f‘/r}

S— 9‘(;:5"6—%/(%?{5 @

Answer. - 11

22, Solve the equation.

2(3c-1)-2=2c+4

GC— 7t

Answer; 2
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oz ¢
23. Solve the equation. 5' < 7[/

5n+10=55 <hH ’fW_C 37 o

o SH ‘r‘S‘
§h

Answer: 9 (,—%

- —— e e

24, During the women's basketball championship game, team A scored 4 more points than team B, Tngalha:_tmth.l&ama
scored a total of 150 points. How many points did the Champion team A score during this game?- - “

l !points (Y"fcf‘) + ()( ) </s5v
X+ X </ 5O
Answer: 77 2 T /50

LXAY— /(SO Y

25. Multiply. Write the product in simplest form.

_ Ay
35 3
-E.E lal"z 293
_%.§=;——] - (3) i‘
2¢2-2
Answer: 5 —{ (S")
1° 202,22
26. Muttiply. 3 L . | ,7_\ -
si1 - TS
14515 :

— /
" 'E'_-: (Type a simplified fraction) £ * S » \5\' S '

[ _
Answer. 1 .2 « 55

S & D

27. Evaluate the following expression. - q L_-
(=) -
5 ) 57 =

4 2
5
412
( ] |_——] (Simplify your answer. Type an integer or a fraction.)

Answer. 16
25

jof4l 5/1/2019, 4:13 PM
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< s, "'
28. Divide. 7 36 ﬂ’m 43 /7/”

7 1 3 / - /3’ ZQG
L /3 2% (it
9

Select the correct choice below and fill in any answer boxes in your choice. % @
LAY 1 7 242 }/-/ o 20
O A 18 38 (Type an integer or a simplified fraction.) 7 — ]
() B. The answer is undefined. / y%
7 11 14 ! / ’ =

Answer: A, ﬁ -33- Tl (Type an integer or a simplified fraction.) e
5 Peombendm e, g )y ;ﬂ*ﬂ» ¥ An il
. FIxt, 2D 204 %9
R 0y X ay BN
3 -
49 14x ] —/7 X’ X/ ——7—_‘ 3(/’\’“ [
10y +ﬁ Qe 3{?2/ % _((—

(Simplify your answer. Use integers or fractions for any numbers in the expression. ) . € @
TeX 22 3 | | /
Answer: 21x —
ol 2 e 2

4

8

3
3 of 32is | . (Simplify your answer.)

30. 3 . 3 3 —_
Find 7 of 32. Write the answer in simplest form. 7 -
@

Answer; 12 3

- —
31. Add and simplify, f, rm; Z,3 o 7 I/

i }c/ ('c

r— + —_—

21 21 7
:’ (Type an integer or a simplified fraction.)

Answer: 2
7

I
1of 4] 37172019, 4:13 PM



MATHFIESTASAPREALEKS150-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

32. Add and simplify.
1 7
— + ——
5 10

1 7
S + T = (Type an integer or a fraction.}

Answer; 9
10

M=
33. Subtract.

1 5

8 12

—“‘5 / 3
= (Type an integer or a fraction. )
12
é_ - ' {

1
8

Answer: 7

24

34, Simplify the complex fraction.

Answer: &
7

35.
Solve the equation and check the solutlon

e -2 =
Answ:-?a I3/ 45/) /‘97( ) %
— /3}( ( 7 }/)K } =3 B i :
Ky/ 30(9 3 = X

Tofﬁ:,___,___ — STIOTT, 3 Ph
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36. Soalve the equation. M({/y ﬁ/}fz‘) - //?&) “Wr"& L(-D

l ] (Type an integer or a fraction. Simplify your answer.) =
77 -

T TG —F T
i ~CInT G~ ) —6E
(M = —F7_

37. Solvetheequation.. .- .L[/L) —_ é(lﬁ) =~ ;—(I'L) =

m
Y

~|3

Answer: =42

9 z 5
TT3TH 7( 3) — Z(Cf) <)
l (Type an integer or a fraction, Simplify your answer.)
27— &<
Answer:l‘L Z] ﬂc{r@"“&ﬁ_ j__a 7.)_r
2

—< 8 T2 et

— ——

38. Solve. - X‘(l) — _../2) - —-/’Z,) — /("f7'_ 2’7-( /,-—

X 1
2742 <G +c = ((1/ @
|—~‘ (Type an integer or a fraction. Simplify your answer,
(X ~+7 = | el by CCD=2
Answer: =7
)(%3’ [ -
T —— = e = T e
39. Solve the equation. /’VI (/s’)_—(- (/)—) //f-) '-f'.ﬁ //s) *’2}47 T 3o
m m ”—Zf") .
BeieBes  (3) Ll FCS) 615D - A2

= $i» :
: (Type an |n;t:gqer or;g:tlonG Slcr:r:pllfy your answer. b ?0 @
B+ 66 —€oT T+ 90 —60

Answer: - 15 }#’7“"5’/"7‘1'30
e B~y = SR }_a_:*JT-__”’/ e
40. Multiply. —
o = 3,776
- 5.876x 1000 ~ So0od

=5.876x1000= : (Type an integer or a decimal.}

Answer. - 5876

\

of 41 5/1/2019, 4:13 PM
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41. Divide.

28.156
100

28.156 B
100 ':

Answer: 0.28156

s s - L ——
42. Solve. lo 6 X — ~2/C /v/ X Ts ;'rr -g—)(_,_:ZG

16x=-21=1.1x+5 /o 6X — —eFUZ (o /X Fr L /f s o £

- e XX 26 / Eas
x—l———_|(Typeanm ergo;d_ecnlr?aly ‘/)( ~7"Z€ /J//

Answer: 52 - X Z 6
o __'___——— - h R S
43, Solve the proportion, 7 - )(
L § %
8 16

. f(;() Chruss ]47‘4/%

x= :l (Type an integer or a simplified fraction.) 7 (/ G) a
2= 75 2 L7

A 14 y
nswer ,L,Z—-L- - ¥< g

e e i .

44. A 16-oz iced tea at a certain restaurant has 72 calories. How many calories are there in a 36-0z iced tea?

The 36-0z iced tea has calories. -7{'26- _ ;3(& -;—fi-( < 2/"?;_?1
Answer. 162 /6(1)1 72(36)
L GX = 2592
45, Write the fraction as a percent. 3 0

3 5 2 2
0 /o T /o J3.90

3
o [ l% (simplify your answer.)

Answer: 30

9of4l 5/1/2019, 4:13 PM
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46. Write the percent as a decimal and a fraction, /ﬂf/""* 2, S ]" 7 l ’ / 3 _

People take a certain medication for a variety of reasons. The mast common use is to prevent heart dlsease accounting

for 44% of all the medication’s use.

: ¥ vy
44% written as a decimal is f . 2t
44% written as a fraction is . {Type an integer or a simplified fraction.) I } / |

Answers 0.44 C/a/ W == i(_/ 5 LZL I

" RSN S
2 %’.7\.;,5—‘&5‘ 25

47. A stereo normally priced at $430 is on sale for 30% off. Find the discount and the sale price.
The discount is $ l /q = /ﬂ - p‘D

e sale price is ’4 (7;3“)'""_‘ .39)_[ 3())
The sale priceis 3. |. < G725 Z‘?,&US Ql;)cu‘__‘/i

A= 301 il s
¢
301.00 / A
48. A company borro r$64.000f 5 ;\5 rs at a simple interest rate of 10.5%. F'}\d the interest paid on the loan and the total
amount paid. ;

— , = P+ PAT
The interest paid on the loan is 31—_—'/4/:'4 6 9000 7L ( V GO0 ( /0 5—) ( _‘{')
Thetotalamountpaidis$: Vﬂou —+ 6 Y000 (05—2 ¢
Answers 33,600

= 6Y 000 € ’i%oJ/) rnberest Jay

HG 7 6 0D qofef Girrot

49. Find the perimeter of the g figure. ,ﬂ A ¢ ;6 — C
24'm. T LY+ 26727
28 in.

4

/= So+25
The perirr;eteris:’ (1 p - 7 Z
(1) O in,

O sq.in.

Answers 129.00

97,600

i

26 in.

Answers 78

(Hin.

Oofdl N 51142019, 4013 PM
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50. Find the circumference of the circle. Give t@c_ircumf rence and D C - ] D
then an approximation. Use n = 3.14, — C — \r-.-
- 172

20 em

The exact circumference of the circle is! (1) C - '3 JY ( Zo)
(Simplify your answer. Type an exact answer in terms of =.) FT_-X_ = \

The approximate circumference of the circle is (2) ;—/

(Type an integer or a decimal rounded to the nearest hundredth.)

(1} & square centimeters. (2) O feet.
) centimeters, O meters.
() centimeters.

Answers 20n
(1) centimeters.
62.8

(2) centimeters.
P -

51. Find the circumference of the circle. Give the exact C —- 2 'T } l/N

circumference and then an approximation. Use r =~ 3.14.
C297(7)

G

The exact circumference of the circle is l (1) C = 2 ( 3 .-/ a r

{Simplify your answer, Type an exact answer in terms of n.)

The approximate circumference of the circle is ] (2)
(Type an integer or a decimal rounded to the nearest hundredth.)

(1) O miles. {2) O miles.

) square miles. () square miles.

Answers 14n
(1) miles.
43.96

(2) miles.

\,——-\

Il of4l 57112019, 4:13 PM
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52. Find the area of the given geometric figure. /4 = C h/
@ 6m Rectangle

o A0

The area of the rectangle is (1) A’ - 9/ 5

(Simplify your answer.}

(1) O sqm.
O m.
O cum.

Answers 45

(1)sgm.

——

53. Find the area of the geometric figure. A«“— 2 g /—j[

L

N

A
~
TN
N \,<
e
~— SN’
Q “j"J:

The area is (H— . (Simplify your answer.)

(1) O yards ﬁ' =

{0 square yards

(O cubic yards /] oy / 6 ;E

Answers 1

4

(1) square yards
-

54. Find the area of the given geometric figure.

10 »d

The area of the triangle is ‘:] (1)

{Simplify your answer.) A_ -
(1} O yards. o

() cubic yards.
(O square yards.

Answers 90

{1) square yards. A 5

12 of 41 - e ——

5/1/2019, 4:13 PM
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55. A pizzeria-willpake and deliver a round pizza with a 14-inch diameter. Find t@-of the top of the pizza and an

approximation. Use 3.14 as an approximation for x. — i
The exact area is (1) ye -{ D A’ - T (7) ra

Simplify your answer. Type an eiact answer in terms of w. -
(Simplify y yp ) < _i (%)

p— R ) AT ()
The approximate area is (2) . N : -
(Type an integer or decimal rounded to two decimal places as A EtIT/ %
(1} O inches {2) O inches - Y?L_

(b square inches () square inches = 3*/ Y r

{7 cubic inches () cubic inches 'A - ? /Y /7 )'L.
Answers 491 A = ?., /¥ ( 7) (7j

(1) square inches A, = 3.-, /‘/ [%?)

153.86 |
=/ 3 6
(2) square inches / ’*;?”/

] {

\'l::/ W . . —E

1
A 18-2--foot by 14-foot concrete wall is to be built using concrete blocks. Find the area of the wall.
Theareaofthewallis| | (1)
(Type an integer or a decimal.) A = ( / f ’z[_) / ?‘/
M O satt A~ /705)(/5/)

O cuft.
O f

56.

Answers 259

(1) sq ft.

57. Convert as indicated, When necessary, round to the nearest tenth of a degree.

113°F to degrees Celsius C - %’T/ F -3 L)

113°F=  fc _
(Round to the nearest tenth as needed.) C - % ( / 13 —31 )

Answer: = ___f /
- C=3/800

- oy

13ofdl S 5/1/2019, 3T PM-
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L (-7 )+672%=
—Zx ’7" /7% ¢ =

= 2O
Select the correct choice below and, if necessary, fill in the answer box to compl te your choice,
—~ — 2O O
—IX O =

58. Solve the equation for x.

-2(x-7)+6=20

O A, x= (Simplify your answer. Type an integer or a fmctlon ) Z )( = O

() B, The solution is all real numbers, _ a

() C. There is no solution - Z N T —
] ' ==

Answer: A x= | (Simplify your answer. Type an integer or a fractm@

59. Solve the equation @ 7 g j ai
g =T

v=[ ]
(9 q -~ 7\\ OA( Y < ~7xr9

Answer: 9-7x

60. Solve the formula;;_l;the spec.i;ed variable. ;5_: p — ﬁ Vo —é T emes
=P+Prtfo[/y A_-/a p— /g?’,r«_ﬂ//—_( -——,/—9/
S — R S A Bz
Answer: A-P A‘ '_f'? - é (ke '—-_-6__ =
Pt / ¢ /Bé/ /

61. Graph the inequality on the number line. Then write the solutions in interval notation.
y<-11

Choose the correct graph below.

O A, <+ ——— () B,

15129 6 -3 0 3 6 9 12 15 4512 .9 6 3 0 3 6 9 12 15
) €., HHHHHHHHHHHHHmes () D,
4512 9 -6 -3 0 3 6 9 12 15 1512 -9 6 3 0 3 6 9 12 15

{Type your answer in interval notation. )

The soiution to the inequality y < — 11 is (:Z/ < — | )

Answers

D. 15128630 3 6 9 1215

(—c0, -17)

14 of 41 —_— 5112019, 4:13 PM
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62. Solve the inequality. Graph the solution set and write ItJtamMomm

-6x<12 =2 ()0) '

Choose the correct graph below,

4-765-4-3-2-1012345678 B7654-3-2-1012345678

Oec

OD.
4-76-5-4-3-2-1012345678 8-76.5-4-3-2-101234567 8

(O E, -t onirpjejiid- () F,
876543210123 45678 B7-6-5-4-3-2-101 23456748

The solution to the inequality -6x<12is : "‘6 )< < I ,L_

{Type your answer in interval notation.)

e, 222 M by

Answers .
B. B7-654-3-21012345678 7€ <,£h,( 'ILIM/"'

P @ ,ZA( 4//)14, (ruk/(

63. Solve the inequality.
-6x+424{(3-x)

The solution set is . (Type your answer in interval notation.)

Answer: (~ oo, - 4]

—Gx+Y = T(3>)

—GxX+¢ = (T T X
"‘GK’FY/> /2 —¥xX —%

—~6c X = “¥X )
—6x F¥X %“?‘X-fb?"‘%x
2 X = Y 4

150f4T —_— 5/1/2019, &:TIPM
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64,
For the following equatian, find three ordered pair solutions

by completing the table. Then use the ordered pairs to
graph the equation.

y=—4x+2

Find three ordered pair solutions of the given equation.

x y

o .
I —
2

Use the graphing tool to graph the line.

Answers 2
-2
)

https://xlitemprod.pearsoncmg.com/api/v l/print/math

Ay

R b O

¥

[#- 20

10

o
A

3
A%
-
-
[o/8

-2+
4

-6-

-8

-104

= )+ L f’i
- O—*L { L

y:-—v(zHL
7 —G L

=2
: "‘/(2)""~

y:’:-'é

16 of 41

\

5/1/2019, 4:13 PM
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65.
Graph the linear equation by plotting points. o Ay
1

x+y=-2 Al

Use the graphing ool to graph the equation,

Y
1

\
(N

|
A

Answer;

[7of41 5112019, 4:13 PM
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Graph the linear equation.

y=-3

Use the graphing too! to graph the linear equation.

Answer: Ay

hups://xlitemprod.pearsoncmg.com/api/v | /print/math

'
L
o
o

'
[=1]
L

f
n
N4
-
[l
[ =420
-
=

18 of 41
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67.
Graph the linear equation.

1

y= -Ex+2

Use the graphing tool to graph the linear equation.

Answer:

19 of 41

https://xlitemprod.pearsoncmg.com/api/vi/print/math
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68.

200f41

Identify the intercepts. Identify all the x-intercepts.

=~ ':f
(Type an ordered pair. Use a comma to separale answers
as needed.)

Identify all the y-intercepts.

[ ]

5 (Type an ordered pair. Use a comma to : separate  answers
ded. o B Gl T
. ___“Z?e-eﬂ 74 X—- 5 OZ |
X~/ /c-/}/ -
! C_?‘—_—-—_—-—__; e i _———C%a_:);_)
‘%—-I’) L’/ u?j#( 7 = ) ¢
Answers {2,0) ( O ,._1)
©,-2) S /

5/1/2019, 4:13 PM



MIATHFIESTASAPREALEKS130-Alfredo Alvarez

https://xlitemprod.pearsoncmg.com/api/v l/print/math

69. o T
Plot intercepts tp'graph the equation, ojw
—_— 1
Use the graphing tool to graph the equation. Use the 6+
intercepts when drawing the line. If only one intercept i
exists, use it and another point to draw the lin M
Liad AK-tnbey k¥ Y=©° g
1 x
7L~ 2l) =/ I e R A I R R R R
—_ -2
O =T -
4
X</ I
7L (Y '
...-)-(— -~ = &
-10-

e ———

C A. The slope is _
) B. The slope is undefined.

. (Simplify your answer.}

18

Answer: A. The slope is "1 I (Simplify your answer.}

- —

5 P i 4
D1 )

X =K/ il 4
§_s_adr, fill In the answer box to complete your choice.

p = L

21 of 41
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ind tHe slope ofthe I ugh the gi (‘7)_{4)
71.Fd@hl that goes.th ghtpﬂgjﬁi\ VT (G>'—('—(—J

(6,9) and (- 5.9) /’V) z v )
X1 — el 9~
Sﬁbc?/tl"ne correct cl:t’:iéé' below-and, if nece aq&l’Fﬁﬁﬁé answer box to complete your choice%? o 1/1

) A. The slope is . (Type an integer or a simplified fraction.) }ry} - _.@
{1 B. The slope is undefined. / /

Answer: A, The slope is ‘I’ (Type an integer or a simplified fraction) h? o O

72. Find the slope of the line. é Ve 4 W&< VVl Kt | _E____j ;

y=3x-3 5/0'4(, =19l apf

Select the correct choice below and, if necessary, fill in the omplete your choice. 0( (O
O A. The slope is . 7 3 )< .
() B. The slope is undefined. — 4—

| - - 4 ﬁ
Answer: A. The slope is [E SIUW _P_V'__.___———F“‘"f

73. Find the slope of the tine./=> q/{:—f' j "%-( =7 ’_47<

Frty=2 YW i-9x O
Select the correct cheice below and, if necessary, fill in the answer box to complete your chdice, y e jf? /( = 2
_-_-_._._..r""’

O A. The slopeis ~ .(Simplify your answer. Typ integer gr a fraction,
() B. The slope is undefined. Mairm+b Z

Bhu= D J-ivly =b ¢a (g
Answer: A. The slope is .(Sirnplify your answer. Type an integer or a fraction.)

74. Find the slope of the line. /Jj ‘7/( — -—ﬁ/x - 7 }~—9 )(
9x— 8y =72 —f? 7 —5x
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
79X
— «9 . PIEAN
O A. The slope of the line is - (Simplify your answer.} — 3 - 5
() B. The slope of the line is undefined.

Answer; A. The slope of the line is =

MM/ —P’?X#é“ﬁ——'

@ ) ﬂ—m/w;/"

Jgn /ﬂ b) —
220f><_/ 4_/// 5.-1m
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75. Find the slope-intercept form of the line whose slope is 3 and that passes through the point (= 5,10).

The equation of the line is | ] %« Xi Y 2
(Type your answer in slope-intercept form.) \j - V‘t = (X”‘()) 7 0= )(7‘/ J

=(19) 2 3~ (—N)] F1oFf5 = 37/ 57772

Answer: y=3x+25 \.7’__/:3_‘___ ZOLTT) " — 3){_{_2(_ .

et e
76. Find the va

G ot (%) <73 +3 =
= 3"_—--\. -
et (3)3) —7C3)+3 -
The value of the polynomial for x= -3 is l . (Simplify your answer.) q + 9\ I R

——f' 3 [ —

Answer. 33 3 073 ¢
— s o C_ 33
77. Determine whether each ordered pair is a solution of the systeg of linear equations. 1L A i

Tax-y=5 = 9 ’S' N A B/
: i__".h+7v=10£__> g,")’) ,Z?;J/\ {/%,,?) Cf\> S{‘f?o\Jw\
(4, 2(3)""('):{ 2(9&)#(3):5.

CO """( — N 5_3 -

. 1s (3,1) a solution?

. <5 TS
) No
O Yes S\Ab (/—UU‘/( O—U‘U
— e — e

b. Is (4,3) a solution?

O No Sub C7) +7(1)=r2 (4‘)—(— 2(3) < o

O ves Y71 < /o br 2l < /o

Answers Yes /u:— /\_) 25—:(E/O
oo d BAD

—

78. Solve the system of equations using tl;sub)stitution me'efhod. 3. %— / / f)(' -7 7
— (2V7= X201
Z9-+t4 =
32 &=

— 3 e a0

-
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The solution of the system is . {Type an ordered pair.} / j j

O B. There are infinitely many solutions; {(x.y)|x +y = 3} or {(x.y)|x = 2y}.
() €. There is no solution; {} or @.

Answer: A. The solution of the system is {2,1) I (Type an ordered pair.)

‘\.._‘_‘_-_-_-___'_-_._-_-_'_______.—-—'_-_-_-‘_-_-'— _"_—-.—-___'___-_'-
23 of 41 51112019, 4:13 PM
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2ty oy

79. Solve the system of equations by the substitution method 2 = 6

Y(txti) —6X ”*b 24 _ B
Fx—<f ~ 6X =/F "B
2X €F T/

Select the correct choice below and, if necessary, fill in the antw

prod.pearsoncmg.com/api/v | /print/math
] = {t#

= 2(3)
% =G+ /[ 7/ G(/ )

Y= 7) (3,7)

76X to complete your choice.

O A. The solution is . (Simplify your answer. Type an ordered pair.)

O B. There are infinitely many solutions; {(x,y)]y =2x + 1} or {(x,y)|4y - 6x = 10}.
(O €. There is no solution; {} or @.

Answer: A. The solution is (3,7) . {Simplify your answer. Type an ordered pair.}

- 7/
B0. Solve the system of equations by the addition method. ?)( j ¢ yf{ 35 __J_ = :'_3_
¥umy =13 “’)’5 ~1 =

4x-y =13 . ~ /G"‘ -t 3
{5x+:=23 _/f_!:f:) zel / ;5/7 %""?"/( @
IXro T 36

Select the correct choice below and, if necessary, ﬂll in the answer box to complete your chcnce

(O A. The solution is . {(Simplify your answer. Type an ordered

(O B. There are infinitely many solutions; {{x.y)|4x -y = 13} or {(x,y)|5x +y =
(O €. Thereis no solution; {} or @.

81. Solve the system of equations by the addition method. --S' X - 07 = &

T
X+2y= -1 2
{6x+5y=-13 Tx =~ @

w b s f—
Select the correct choice below and, if necessary, fill in the answer box within your choice. >
X-€29 =
O A. The solution is . {Simplify your answer. Type an ordered pair.} 2 - ’
O B. There are infinitely many solutions; {(x.y)|x+2y= -1} or {(x,y)|6x+5y=-13}. (3es 7

(O €. Thereis no solution; {} or &. _}42 / .-(-A / —F 3
Answer: A, The solution is . (Simplify your answer. Type an ordered pair.) 2,7 9\

el e S SN o R S
=
2.

=

2 of 41— " 5/1/2019, 4:13 PM
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82. Two numbers tod have anfie_[aﬁce @ind the two numbers. )("T ':' -~ 3 }

The larger number is | l and the smaller number is z 3 29; 2
Y-t ) =35 ¢ XYYy Tee
Answers 22 J,;;)_E__i_ 2)( - gy

3 1 Lxro= 1Y @ (;{, v)) e /Z%]\D

83. Use the product rule to simplify the expression. Write the result using exponents.

{
(a6 = g LT

(-8a%%) (9ab®) =[]
Qe ; 3
Answer: _ 724918

84. Use the product rule to simplify the expression. Write the results using exponents.

1" 7 3 3
(62"") (-527) (2°) (C)/'S)(l) = (7 _

(") (-s2) ()= ] =70 %zc -

Answer: _ 30221

P —— — e g — e o Rl el R R At | —

85. Use the power rule to simplify the expression. ( -
8)3 7
(+*)

()= ]

(Simplify your answer. Type exponential notation with positive exponents.)

Answer: y24

86. Use the power rule and the power of a product rule to simplify the expression.
2 {
@) % W) e =
2
(am®)"=

Answer: 1gm°

25 of 41 512019, 41371



MATHFIESTASAPREALEKS150-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api‘v 1/print/math

87. Use the power rule and the power of a product or quotlent rule to sumpllfy the expressmn

(l)r’Z)
(a5’ G AU = (9 MZZ(”’ V0w
( Ba4b3c) |—|(Type your answer using exponential notatlon) ( ) p—

Answer: 3g388.2 = -:_6)_&} A gé C

88. Use the power rule, the power of a product rule, and the power of a quotient i ression.

G)(3) (2)(3) Y/ AT

[ = K”“)’(U X L = @.;ﬂf:

7

3 —

Y

Answer; 343x5215

15
y

89. Simplify the expression.
b>bp’ -

bbb’ = i

Answer: p14

90. Simplify the expression. Assume that all bases re not equal to 0.

'*£
s'y’z - 53/7 24

91. |t p(x)=x2 +x+5, find P(6). /(G/: _(6-)&'1_/6)’1’- ;'.'.
o= | 6D E)E) T6)s
Answer: 47 }/(6) - 3 é 7(—6_ ’f r

L) —¢2es” S
%6 of 41 (6) 7 T PM
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92, Simp / the fpjlowin Jéion by cppabining the like te —
- C" é) i
2
5aZ - 8ab + 9b% - 3a° - 3ab + 5b - 2& “"”6\19 ,__!_ /“f .
5a® - 8ab + 9b - 3a” - 3ab + 5b° =| | ———”_///

Answer: 252 — 11ab + 14b°

93. Subtract. Ci

~ 9 +vj ——r—g-ej e

(9y? +4y-5) -(-9y+6)

(Qy + 4y - 5) -{-9y+6)= (Simplify your answer)@_(, | 3 L7

Answer: gy +13y-11
Shssc ey » a i

94, Add 1”1 7 e e
. Add, B - . 7
(-7y2-7y) + (&y? +2y-7) = 79 77 ay 77 Tl 7

(31l - Jowmin [ =5y =] =

7 —_——
Answer: 2 _ gy .7 7 — 5‘7 — 7 = ™
R
95. Multiply o / v —

' 3
(x'm) = )( _—Cf/%g)( "f‘?X —-Z,{)( 1Y =

e e T
x+7)(x® -ax+8) = Y 3 (S R
ﬂ Y A

Answer: & 4 73 — 4x? - 22x + 42
o T R

96. Multiply vériically. \
p?%yq

(x%-4x-5) (7x®-6x-8) =

(xz -4x- 5) (7x2 -6x- 6) = \: (Simplify your answer.)

Answer: 7,4 _ 343 - 1752 + 54x + 30 o /
P S S PO / /-/ d M/ i

7/(L(f67( "6}( 25}( T2Y X —{-z,yo(ﬁggx,{_gbxrf_go.,

I ————

_—

’;;Y—-B X7 11X fix/i;/oi/"

I __5/1/2019, 4:13 PM
———— e
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97. Multiply. > T
Lo “ax = 2V X Tf G x

-x(x® +7x-2) = | (Simplify your answer)

Answer: _ 3,3 - 21x? 4 6x /

https://xlitemprod.pearsoncmg.com/api/vi/print/math

98.  Find the area of the triangle. < ﬂ - jZL g—f'/
| L (i~ 6)
| 4= 7-( kA
i A= A ¥x | 37‘)
| 2
O 2,5//1 {§X
(4x=3) inches A’: -7 -
. L e
— T jor 9
Answer: 1252 _ gy
99. Multiply using the FOIL method. 5‘/ v —~& )_@_‘7/" () —

4(y-8)4y-1)
4(y-8)(4y-1)= ?

Answer: 16y2 - 132y + 32

Herye —/7 ~32y +3) =
“ T —33’74—?)*
(69" ——/Bcv—fz’&/

e — ——Y

100. Multiply. ()( ,/4 é :
(x +6)° ()( ¢ C(_.-{—C) .
(x+ 6)2 - [_—| {Simplify your answer.) ’f -

XL 6Lt 6x7+2€ "
Answer: 2 4 12y 4 ‘L——‘_’—-_.—_-_'__'_‘““\—\
o 12x+ 36 x "f' (’L‘ X,,l 2=’_(_/:&’/
101, Multiply. (&CVZ: - v =
@-7a+7) a L .-\-7/6( ) —& g =
(a-THa+7)= : (Simplify your answer.)

Answer: 52 _ 49 aL‘—_‘? ? :)

s

Baof4l

5172019, 4:13 PM
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102, Multipmand the polynomial. 8 G L(
ax*t (2x4-8x2+5) = g X — 3 L X "'(' ZUX -
ax* (2 -at+s) =[]

Answer: g8 - 32,8 4 20x*

103. Use a special product to multiply, if possible. @ ,3 C )

(- 3c)°
(a0

l\.)

Choose the expression equivalent to (d - 3c)”.

O A. 42 4 5dc+9c?
O B, 42 - 9¢2

?, “
OC. ¢ -6dc+9c? A — 6 A. c +9 C =
OD. 42 ,9c2 /}A_____—————/f

{0 E. none of these

Answer. ¢_d? - gdc + 9¢> &Ql—_r?"—: G C,c\, i C? CL j

A -

104. Simplify the following expression.
5 2
57 2= (Type an integer or a simplified fraction.}

Answer: 1
25

—— —

105. Simplify the following expression.

[%J [: {Type an integer or a simplified fraction.) 2 )
(-— | (- ’s)

2

Answer: 27

Wofdl— e 5/112019, 4:13 PM
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106. Simplify the expression. Write the result using positive exponents only. Assume that all bases are not equal to 0.

. 197"

- e
i — D f%;, =
Answer: 1 j"?l y

1

y2

p——— i

107. Simplify. Use positive exponents for any variables. Assume that all bases are not equal to 0.

G 6—Y
3 c . C -
—

ct o

c —4 . 5

=== (Use positive exponents only.)

c -

Answer: .2
= i AL e— e — TR O
108. Simplify the following expression. Write the result using posulwe exponents only. L

T =T

(-ady ™) (x™y) = ("‘f)/‘f) )( v - —~20 )( ‘7
( - 4x5y _4) (Sx' ! y2) = :] (Type exponential notation with positive expo

Answer: 20x4

y2

.
A——— —_— —— -

: : (‘?)f—‘d

109. Simplify the expression. Assume that 2ll bases are not equal to 0.
67) %)

( -7 4) - & L
7 ép/g -

Answer: E.28

b16

e ——
q“_--..____._r__ —*_____“_______,___-————""_"'-"_ 3
30 of 41 5/1/2019, 4:13 PM
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110. Write the number in scientific notation. 2 o J
SO0 ,
R =

25,000

25,000= ! (Use the multiplication symbol in the math pale

Answer: 2 5x 104

0.0000013

111.  Write the number in scientific notation. O s O OOO () [ 3

0.0000013 =
{Use the multiplication symbol in the math palette as needeq.)

Answer: { 310”6

R i e e
112. Divide. p '—7" G
wew® o ; $ p'
3p =
3p +9p /i%_g_/_
1 ,

Answer. P6+3|35 '—(—’ 3_4!0/—/-;_'_/()%
ey - _ﬁ . s LR e s i N 3 '
113. Find the GCF for the given list. : “Imes T v /f_/ R ¢

32, 36 3 Z 3

Theacrisi | 367 ”

Answer. 4 GC?)Q_% :
— <R AR

e ) { ]
114. Factor out th@ common factor from the polynomial.
2x+10 2/)( ’f / 0 -
2x+10= : (Type your answer in factored form.) e
Answer: 2(x + 5) ’//
_-'h"'-'-

31 of 41 5/1/2019, 4:13 PM
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115. Factor. X)(\) ____S‘sx)(

Bxy - 54x° o 7 X )
s
8xy - 54x° = i(Factor completely.) 2 X ( Lf ‘7

Answer: 2x(dy - 27x) 2_. X ( éf j 2 7)‘( ))

116. Factor the following polynomial.

-12xy-20xy -_(ZX 7 ’-—ZL))('.) 3
- 12x* y - 20x y (Factor completely.) gé)( L( _3? — S‘;( )

324 j({(sty S‘X)_\

Answer: 4y4y4 (- 3y - 5x°)

117. Factor the trinomial completely.
x? - 4x-21

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

~Z2 | =
O A 2 _ax-21= _ (Type your answer in factored form.) X (/ )(

() B. The polynomial is prime, @3} (_, -7)

Answer: A. X% -4x-21= [ {(x +3)(x=7) | (Type your answer in factored form.)

A T M
i e e A S SEEEIERIRT I, K ST L . W S
118. Factor the following binomial completely. /M‘Jﬁ 6{ ‘hé = / K’{';ﬁ "Ej

121x - 36y°

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

[2{)( —— 367

O A 2152 -365!2 S - (Factor completely.) 3 1
() B. The polynomial is prime.

119. Solve the equation. / X -5 -
x-8)x+7)=0 X5t T‘:.O*s/'

E—

(Simplify your answer. Type each solution only once. Use a comma to separate answers as needed )

Answer. 5,-7

320f41 5/1/2019, 4:13 PM
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120. Solve the equation. )? S;;.{(:___ OC/ Oﬂ )(’-_3 - .
Sx(x-3)=0 F T ¢ JA Kﬁ%{_/’: g3

x=| (Use a comma to separate answe d.) O K @
Answer: 3,0 /\/ N '

121. Solve the equa;ion,hh Z j(_/fﬁ::o 0 /L, ’) / — = o B
(2x+9)(3x-4)=0 2,(,{7,..7 <99 OK 3)(’__(/4% o+
=[] 2X=-9 0. 3X=Y

(Simplify your answer. Type each solution only once. Use a comma to separate answers as needed )

Answer: _21 o ;A E F—j’ -—-
- e Y1 G“f 7
122, Solve the equation. ( )< 22 Q f) —

. X2 -10x+16=0 )(“‘“2_, O 0/ X—F=2
o NCY T I o B A AR |

(Simplify your answer. Type each solution only once. Use a comma to nSWErs as needed.)

Answer: 8,2 )( Z J : m
= 123, S::)Ive /)}C ( 'L}(&-f-f) P

- o )(—ff J
P N Y R

5 needed.)

x+3x 10=0

g

(Simplify your answer. Type each solution only once. Use a comma to sgparate
Answer. -5,2 d //&

124. Solve the equation. /n )( ( )( ’L——- /O )( 7_ / c) -0 55

x® - 10x% + 16x=0 X (K...z) (QQ'“X) = QO
A4 X=0 on X220 Or ”—f—- Lt

(Simplify your answer. Type & olutlon only once. Use a comma toseparate answers as needed.)
Answer: 0,2,8 o K- L;‘L’L ‘iO'TGL an X—7-¢ 1= 0rg

_—-_’—_-_u__-_-‘-_-—-\'_“‘—-—-‘

33 of41 5172019, 4:13 PM
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125. Solve 7 @A +7)6< - I) = O
, . 6X+7] =< O X—] =
o e CAF7=1 =977 O X —pfy=

{Simplify your answer. Type each solution only once. Use a comma to rate EI‘B&%E
GX ==7 O X=|
Answer: 7 ] o G

6!

e X<2%) o

126. Simplify the expression. A/ /
[ - -
x+1 — - —
& #1)6e)
Select the correct choice below and fill in any answer boxes in your choice. M S
A LS4 (Simplify ) I h
A = implify your answer. )
X2 - 4x=5 Vf) (7( s
) B. The expression cannot be simplified.
x+1 1
Answer: A, 2 = s {Simplify your answer.)
x“-4x-5 | o -
, — T
e —
127. Find the product and simplify if possible. Z 2 L»( 3 ¢ 3 5 S
‘ - - -
8x 9y y 2 2 §e X
y2 5x
o 545
B 9y _ - Use oot |2°Z'L 5 s
yz * 5 (Simplify your answer. Use positive exponents only.) v ¢
Answer: 72
Sy
e — CE L == e
128. Find the product and simplify if possible. —_— L —
&) =Dz e

x° - 3x— 28

(+y( %ji

x*-49  x+4
2 . = {Simplify your answer)
x“-3x-28 * —————

Answer: x+7
X

x2_ %+ . .
0 x4 - X“3—17 X5 %V/ .

34 of 41
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129. Find the quotient and simplify the result. / 3 )( 2- -
18 3Cy? — / 3;{ 7

3 T 5
y

18y #3_“—6*__){#__________ =

= ‘ {Simplify your answer.)

r 3009
/ /<
Answer; 12 (/2 )/‘ e 9_(;-.

e —— e
1 LY -
130. Add the rational expressions. / N—""
Sm 7m
o = —7 — &n
Sm  7m
P —-I (Simplify your answer.) /2 vl —
» -—
¥ h

Answer: 3m —@{4;;;&) o
i N

131. Subtract the rational expressions.
(G1-1) ~(11) _

9x—2 _ 8x-3 -
-11x-12  x2-11x-12 )( —l w— L -
x2-9:1-x2-12 2 11x-12 : (Simplify your answer.) 9)( 2. 3)4(_—_(-_3 -
X =N x—1 1

Answer: x-112 )(—(- f

(X +1) k=1
b

((/l) (x— )

. 5/1/2019,4:13 PM
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132. Solve the equation.
34 — l
3-l=5 3’8"‘/4\ - S—- 'f/
: 32 Ts e

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
3L ~5¢ = SEF(-5&
O A. The solution is —22 = {
(Type an integer or a simplified fract:on Use a comma to separate answers as needed.}

) B. There is no solution.

Answer: A. The solution is e

(Type an integer or a simplified fraction. Use a comma to separafé answers as needed.}

. s C?(V-—-?) = c(v) Cross e

Solve the equation.
E Ay Rl TUTT L

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
T =slkr—r72 / :
O A. The solution is v — Lol VA SV +7 .5

(Type an integer or a simplified fractlon Use a comma to separate answers as needed.)

() B. There is no solution. L/, V‘ - 7 2

V- 72
Answer: A. The solution is | 18 i "‘('/"

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

T ——

134, Solve the equation. ( 2}) ~ 2 5 ﬁ ?) - -—Z——{( Z)f)

e 3(1}—#3(“))"‘ 90)

Select the correct answer below and._j necessary, fill in the answer box to complete your choice.

—
L

CA y= (Useaco to separate a? rs if needed )
() B. There is no solution. 6;43 ‘7 - f

—

Answer: A y = IIJ (Use a comma‘? 0 separate answers if needed.)

7:|

36 of 4] 5/1/2019, 4:13 PM
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135. Simplify by factoring. Assume that all variables under radicals represent nonnegative numbers,

36x° ) 56)(66 E

% =

Select the correct choice below and, if necessary, fill in the answer box that completes your choice. 6 )(

on mF. e T )

(Type an exact answer, using radicals as needed.)
() B. The square root is not a real number.

3

Answer: A, 1/ 35x5 = 6x !(Type an exact answer, using radicals as needed.)

H-_H__-_-_'_‘_‘.—:-—-— - = e R AL __,}_ i e S = T

136. Find the cube root.

3‘” I+ Lo

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() B. The cube root is not a real number. ﬁ

Answer: A, ?\/— =! 1 et
137.  Simplify the radical. 26
25
36 i
25

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

36
25

() B. The square root is not a real number.

O A.

(Type an integer or a simplified fraction.) ~

36

Answer. A. 25

6
= ] (Type an integer or a simplified fraction.)

. -
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138.
Identify the domain and then graph the function, using the X f(x)
table ta the right. 6 |
f(x)= yx-6 |
15 |
22 |

The domain of the function f(x) is |
(Type your answer in interval notation.)

Complete the table to the right.

Graph the function. Choose the correct graph to the right.

fa)= VA

AnswersLS.oo) [/é/‘;ﬁ - (ﬁ 2 D

Anevre =Vl =]
/76 = @At >

(21),: m = W(:’:L{

—
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139. Use radical notation to write the expression. Slmpllfy if possible.

af = (F) TP

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. {
i §,_ /
oa (L)
] ( 256 ] S — \
(Simplify your answer. Type an exact answer, using radicals as needed.)
{0 B. The answer is not a real number.

U
1314 1
Answer: A. 256 = 2 {Simplify your answer. Type an exact answer, using radicals as needed.)
L
140. Use radical notation to rewrite the expr&ssmn Simplify if possible. ﬂ— /ﬁ éﬁ
312545~ < 5 = S
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. = f’ﬁ— S r 5
4/5 _ = :
a 3284%= s
{Simplify your answer. Type an exact answer, using radicals as needed.)
() B. The answer is not a real number.
Answer: A, 3125%/5 = (Simplify your answer. Type an exact answer, using radicals as needed.)
141 /’ /A Z f{ Y I
Simpity v/mf o —
({Type an exact answer, using radicals as needed.)
Answer: 3.6

142. Simplify. Assume that the variables represent nonnegative real numbers.

[ J1201a7L

Answer: 11a2p /b / /
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2
143. Solve. WY) h(y) (,}uq,( X1y = Y

A% = 1L
o AT e fry MT?:

Select the correct choice below and, if necessary fill er box to complete your choice. (f/:‘
X =30
O A. The solution(s) is(are) x = (_\ (f — L/

{Use a comma to separate answers as needed.)

() B. The solution setis @. 6-__0 J J

Answer: A. The solution(s) is(are) x=| 30 | (Use a comma to separate answers as needed.)

Tw A WEw )G T R

fx+a =21 Xt = Tx—\ CLLO(C

Xt g = TX — | — ff |
Select the correct choice belowand fill in arly answer boxes p present in yfur choice. §y T Av)—/
X=1lx—35

() B, There is no solution. \)(“—Z A = e 3% V—ﬁ“

Answer: A. x= l (Simplify your answer. Use a comma to separate answers as needed.) 3 3
C: (4 ._._‘-—-

O A. x= (Simplify your answer. Use a comffia to se?ate(v:swers as needed.) b c) - b/ Sy}

S

o 56 17K + $TA+64%
(7+6i)B+i) — — o ) .
i T Te A T

(Simplify your answer. Type your answer in the form a + bi.) S’ /t '74' ( ( — ) =

Answer: 50+ 55

146. Use the square root property to solve the equation. The equation has real number solutions.
(x+7)2 =16 Q(»f’y& - T/e
R €y i

(Simplify your answer. Type an exact answer, using radicals as needed. Use a comma to separate answers as needed.)

X+71=~y O X—FC)K‘f 72 4T

Answer: -3,- 11 - =
R et e o W S 0, G %

147. The area of a square room is 169 square feet. Find the dimensions of the roorm. ¥ 6 —!(————-__.__
Lo 2085504
The side oftheroomis| |feetlong.

Answer: 13 /6 7 6<)&() I‘ Y
B R ﬁ&JF_ o _
V63 =
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-~ L = .
LS Evaluate Jbz -4ac fora=2,b=1,andc=-3. ‘Sukd W’ ) - y(i/g/’j '_'
(Simplify your answer. Type an exact answer, using radicals as needed
(fZv =
Answer: 5
— =

149. Use the duadratic formula to'solve the equati » /‘7 z —&+2
i -+ éz _..-":1 et
— M ‘-‘,_5—-— - YK L—

2 =
ag e X Me -tz

L= ¢=73 L =
m=| M= =()1 “YB) =~ e T/
{Simplify your answer, Type an exact answer, g radicals as needed. Use a com te answers as need ba,

R & Y/ = —3 @
= T M o
_bye = ST —

150. Use the gijadratic formula

Answer; -3,-1

solve the equation.

| x?+8x+25=0 :
P - I~ e . st 3 Y
The solution(s) isfare x = 5
(Simplify your answer. Type an exact answer, using radicals and / as needed. Use a comma to separate answers as
needed.)

Answer. —4+3i,-4-3i§

X~ -—b*\fIaL ~¢<c

)(’*/5’)'*(/(5)(—"9’/77&
()

f = ¥V o0

2
X< -1 =(5e
)(": *L’-_t__(/t'
Y= =¥ T34 -
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